ST6EE [

BELF

15FFR

[

NL—FR—IL

18RiEBhETE

Bt 4R 5H 6R 78 8H 9R 10A 1A 128 1A 2R 3R a4
I |B|  FETRE | &R + RE A| BREGEHRE |x| FERE |\ &R % R&EHE &| MEREHME |8 FETRE % & HE | \REAE |z ®REAS !
2 | x| FETRE x| BKEREREB |8 Re K| ERBRKE (& FERE  |A| HERERE & RE&H |  FETRE |8 RE&H *® R#&H ] 3= ] 3= 2
3 [x HREH E &18 A Re *® &R | FHRRE | x| BEREKRE (& REE | FRIRE | x| KERERE |e|  FawE B| KGREME |B| HERESRE 3
4 |x|  FEIRE |+ &1 IS HREH K| HEREKRE |8 RE&H *| HRERERE e RE&H A = *| BERERE |+ FRIRE (k| BRERE | k| HKREREB 4
5 |& #FIRE |8 G K| MBERERE |&| BGREHEE |B| FIHRYE |+ BERERYE |+ REE k| EREBRE | k| HKREKRE |\ & *| BERERE | % & 5
6 || ®mBAE (A HREH K| BERERE x| KRBIAE | kx| FERE || KFERE |8 R#&H *| BERERE e BKEREKREB |A FRIRE | A| ERERE | A| BERERE 6
7 |\ &R x| MERERE |&| KEEKRB |8 3= *|  FEHIRE  |* &R B REE *| BERERE || FETRE |k FERE | & HKEEKRB & HKERERE 7
8 |A| MEREME || BERERYE || FIiRy A| HBEERE |4 = 8 RE&H ) RE&H & RE&H 8 = *| HERBRARE |+ FRRE (x| FARE 8
9 |x| MERERE |& Re 8 &R K| BEREMKRE |&| MEHAS | B BEREMKB |« &8 + &R B MGREMRE || HEEKRE (8] FEKRE (A %= q
10 [ % HREH & ARE A| MEERERE & &8 +| MEHAE | x| BEREKRY |k R&H B FRIRE | k| MMERERE || KERERE (A &R B HERERE 10
1| &| BKERERE (£ &R K| BEREMRB |K| KEEKRE |8 KRBIAS = &R & BEREMB |8 HEREMRE |« &R x| MREAE |% %= x| ERERE ]
12 |&| MREHRE |8 FRIRE || BGRERE | & HERERE |8 &R *| BERERE || FETRE | x| BEREKRE | x| BEREKRE |8 REHAE | =% & B *® & B 12
13 (2| MRBFES |8 KRERE |k BEREKRB |2 /KEBIAS  |x &R & BEREMB |8 FIRE (x| HERERE | HEERE (8 %= * %= *| BEREKRE 13
14 |B HREH k| MERERE & HBEEKRE |a REHE (% R#&R x| HRBAE |A R&H k| BERBRRE || FRIRE (k| BERERE |e &R 2| HERERE 14
15 |A| MEREHRE |[x &R +|  FETRE | A &R * &R B MEHAEG | x| BREKRE |2 HEEKE |8 &R *| BEREKRE |+ %= x| REBAE 15
16 | x| BGREME || KEREERE |8 &R K| BEREKE (& FENRE  |A RE&EHE *| HRERERE || FRIRE (B BERERE |k KRERT |a & B B & B 16
17 | % &R 2| BEREMEB |A| RERERE (x| BERERE |+ RE k| WBERERE | k| BKEERE |8 = k| BEREKRE |2 Re A %= A HGREMRE 17
18 | 4| HBERHZEMKE (x| MBAE |% HREH * &R 2} &R *| BERERE || BERERE |8 BEREKRE % R#& A8 + Re X & B x| HERERE 18
19 |&| MREHRE |\ &R ® &R & WHERERE (B FEREB | KRERE |[£| KRBIAS |« = *| KR EHRE |8 Re *® %= *| BEREKRE 19
20 |+ Re A BERERE | A &R x| FRIRE (x| FERE e KRERB |8 & H * & HE &| MEBRHRE |8 & B * & B x| REAE 20
21 |\ RE x| BEREBRE (¢ &R B FERE (x| FEKB (£ FERE (8| KEREKRE |£ = | FEIRE | x| BEREKRE |2 FERE |2 R&H 21
22 |A HREH ® &R s &R Al FEME (& RE&EE B FATRE | x| BERERE |e & E g & HE * & B +|  FETRE  |x|  FETRE 22
23 (k| FGRERE || FGREKYE |8 HREH b3 HREH 2|  FETRE |8 R&H * RE&H + 5= Al FEIRE (x| KEERE |a R#&H 8 %= 23
24 |&| KERERE || HKEEHKE |A &R x| FRTRE || FEKRE (x| BERERE (x| HERERE (A & E k| FETRE e MEEMRE (8| BERMERE (8| KRERERE 24
25 | & &R +|  FHEIRRE | X &R x| FERE |8 R&H *| WBEREKRE |2 BEREKRE |8 RE&H * 5= | FEIRE | x| BERERE | x| BERERE 25
26 |&| KGEREKRE |\ &R x &R & &R Bl FERE % RE&EE £ FETRE | % & E A FRTRE |\ & *| HEREMRE | x| FETRE 26
27 (| HFRIRE  |A| BGERERE |4 HREH & 618 x| FERE || KERERE |8 RE&H * 5= 2|  FHIRE | A| BERERE | x| BEREKRE |x  FETRE 27
28 |8 &R *| HERERE | &R A8 CxH *|  FEIRE || FHRMKE (8| BERERE | % R#& A8 | REHE | x| BEREKRE |2 BEREKE |2 & HE 28
29 (A| HFRigyE & &R x|  FEIRE |A 618 *® RE&H 8 RE&H x| HEREKRE |2 = Bl MEHAE =% R#&H FHIRE 29
30 (k| MEREHRB (& KEEKRB (B FERE (X &R & FHREEB | 8| BERERE (x| HERERE (£ FIRE |8 R&EE *| BERERE FRIRE 30




